
1 2 3 4
-0.6

-0.5

-0.4

-0.3

-0.2

R2 = 0.746, P < 0.001

Log10 Mass (g)

L
o

g
1
0

D
u

ty
F

a
c
to

r

1 2 3 4
-0.6

-0.5

-0.4

-0.3

-0.2

R2 = 0.643, P = 0.005

Log10 Mass (g)

L
o

g
1
0

D
u

ty
F

a
c
to

r

1 2 3 4

-0.7

-0.6

-0.5

-0.4

-0.3

-0.2

R2 = 0.517, P = 0.019

Log10 Mass (g)

L
o

g
1
0

D
u

ty
F

a
c
to

r

1 2 3 4
0.5

1.0

1.5

2.0

R2 = 0.002, P = 0.898

Log10 Mass (g)

L
o

g
1
0

F
e
m

u
r

A
d

d
u

c
ti

o
n

1 2 3 4
0.5

1.0

1.5

2.0

R2 = 0.338, P = 0.078

Log10 Mass (g)

L
o

g
1
0

F
e
m

u
r

A
d

d
u

c
ti

o
n

1 2 3 4
0.5

1.0

1.5

2.0

R2 = 0.001, P = 0.921

Log10 Mass (g)

L
o

g
1
0

F
e
m

u
r

A
d

d
u

c
ti

o
n

A. 30-45% of maximal speed B. 40-60% of maximal speed C. 50-70% of maximal speed

Figure S2 shows duty factor and femur adduction(depression) from three data 
sets, A – using strides between 30-45% of maximal speed. B – using strides 40-
60% of maximal speed. C – using strides 50-70% of maximal speed. Note the 

largest size range (and smallest error) is for the 30-45% maximal speed which 
justifies its use in the study. 
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